N

i
2]
=
B
&
i
1w
25

HesrH-BHed-—4Nw\d

T?PA—

O0-9Y—
Ovo

ST

K7

FruF

EV7sE

Yh-h£8

7U—H—
BhD#Es

h-Kilg-

0
O
=
e
w
|
Y
ac
|
>
[a)]
m
o
o
)
(@
e
%
4
<
O
i
o
A

AST1RFPyF

C-938

TSRAFYIR

4ROy D

WINDOW LOCKS

(27) 60
(3) '%
= —— |98
C-938-A-1
938 ¢10 ZhO—77 20 Z+A—7 20
Stroke Stroke
R ==
*ﬁ%g ‘ (T § LIl S
S| @ N T N @
~ I 7D_ g 217 TN ) S ~
LJT_,J
$12.5 = Hh7—Tvv— hl¥+vy 7
Collar washer Screw cap
BT 75iE 87)
Installation Method
7 TN BLEE A, 45 295
= MEFIAIRBIET R LR, 2% ($20)
1] Bracket is not included. )
< é’ % Prepare receiving
N |2 fixtures separately. 1 @
RE= — I\
E&’ £ 31U ES 10mm
i? s Useful screw depth ==y
¥eg o / 14| 30
BEs “§: | e
gL 2 | T /Packig
L L JEdz=] o INRIVRBAT ik
H7=Tyov— Example of application Panel drilling
Collar washer S=) dimensions
lxvy 7
Screw cap 30
M6 b X1l (AIFE)
INFIVEBILEBETE

XARIE M6X12 b7 X4l
M6 truss screw (sold separately)

Select according to panel thickness
#Shows M6 X 12 truss screws

2><¢13.5§

¥ Feature

° TYFP IV AVTAHS AEERIFTEE,

o 57 REEAE, :

o NyFVERIREF+ v T THAD ASREZEEL
Ttttﬁﬁo

* Allows one-action glass window handling.

e Slide control is simple.

* Designed for glass windows, with gripping between
packing and resin cap.

off &E:
KK/ EIES (ZDO)
HhS5—Tvy+—RUF+vT /AESEIE
Nw+y,/IFLy7OEL 3 LEPDM)
o REL L FEffEEE
o B SEBEQREDHSIABA S A Nl
#NER
fHZ

N o = e

o FYRRNILNEIRTUVTCTHRIEFLE
T ENABATHERLBNTLESL,

o M6 b S ZRAUDMHAANLD F BT (T T
DHTADREICEETRALF v ITPHS
ZOIELBRWVE SICEUFFLTLIEEL),

° IREN T DERIECIERNGBEE LAY
NBVESCRLOY I ERHITDRER

HBALEAEZE L TR IEEL,
Specifi-
cations

® Material:

Body: Zinc alloy (ZDC)

Collar washers, screw caps: AES plastic
Packing: Ethylene propylene rubber (EPDM)
® Finish: Baked

Sellelile @ Glass window slide control on construction
use machinery, specially equipped vehicles, etc.

ERE[IS @ Deadbolt held by spring. Do not use in
direction of gravity.
® Tightening torque for M6 truss screws should
be according to condition of glass being
installed to and should allow installation
without breakage of screw caps or glass.

e |f using where vibration is prevalent, be sure
to take measures to prevent screws loosening
such as applying screw lock.

BRES Rons| HEEIE (g) e
Product No. 10,7 Mass Code
C-938-A-1 [ ] 250 24813

@ :ROHS10EHAINE A : ROHS10EBICHBTIEETT,



